Year 2 home learning week commencing 15t June 2020

Maths

This week, we are carrying on with our learning about money. | have made a video to help you — here’s the
link:

https://youtu.be//mjH4mH7GRg

Activity 1

Watch the first part of the video then answer the questions below:

1. Miss Coope says the value of the coins in purse B is higher because there are more coins. Is she
right or wrong? Explain your answer.

She is wrong because in purse A the value is 6 x 5p = 30p. In purse B the value is 10 x 2p = 20p
So the value of the coins in purse A is higher.

2. Label each purse with the correct value of the coins inside:

5p purse
30p

1p purse
9p

10p purse
90p



https://youtu.be/jmjH4mH7GRg

3. Draw 4 purses like the ones below and then draw coins in each purse so that the value in each
purse is 10p.

1p purse —10 x 1p, 2p purse —5 x 2p, 5p purse —2 x 5p, 10p purse —1 x 10p
Activity 2

Watch the second part of the video then answer the questions below:
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1. What could you buy from the shop above with the coins in this
purse? List all the things. Can you buy 2 things? Can you buy 3
things?

There is 90p in the purse so you could buy the dinosaur for 90p or the
aeroplane and the boat for 75p or the boat and the drum and the teddy for
57p. You can buy any combination as long as they add up to 90p or less.

2. What could you buy from the shop above with the coins in this purse?

The coins in the purse add up to 30p. You could buy a boat for 30p or a
drum and a teddy for 27p.




